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1 Language is neither ..................... nor homogeneous.
(A) Simple (B) Single (C) Static (D) Standard
2 Dialects which identify where a person can be placed in terms of a social scale is
called ..rvsmmmmmyasssas 3
(A) Stress (B) Symbol (C) Sign (D) Sociolects
3 Word Collocations are ...................... Combinations of words.
(A) Idiomatic (B) Intonation (C) Imperative (D) Assertive.
4 is the degree of force used in producing a syllable.
(A) Syntax (B) Stress (C) Speech (D) Static.
5 means differences in pronunciation, grammer or word choice
within a language.
(A) Lexical (B) Static (C) Variation (D) Diversion
6 SIEmeans ...............ocevvinnnen, .
(A) Standard Indian English (B) Simple Indian English
(C) Social Indian English (D) Special Indian English
U omaamememmas oo attributes the deviations in SIE to bilingual creativity and stylistic
innovations.
(A) R.K. Narayan (B) Khushwant Singh
(C) Kachru (D) Mulk Raj Anand
8 SIEisa .....cococivivninnnnn. Indian form in which most of the regional features have
been naturalized.
(A) Pan (B) Sub (C) Original (D) Diverted
0 e says : ‘It is only the English of the inadequate bilinguals that
can bear any examination as IE’.
(A) Kachru (B) Srivastava (C) Tagore (D) Daswani
10 Deviant is any sound, word or sentence structure which does not ........................
to the norm.
(A) Suit (B) Belong (C) Blend (D) Confirm
11 A person who writes and edits and dictionary is called ...................

(A) Diction writer (B) Lexicographers(C) Language Expert (D) ngulst
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A Sentence may consistof ................. clause.

(A) One (B) Two (C) Many ~ (D) Three
.......................... is the basic unit of grammer and not the sentence.

(A) Clause (B) Cohesion (C) Complement (D) Syntax.
According to .......ceovviiiiiinnnn. , there are three major acts which occur in all forms
of spoken discourse.

(A) Singh and Kartik (B) Sinclaire and Coulthard

(C) E.O. Winter (D) H. G. Widdowson

Analysing a text by starting with the context of the situation is known as

(A) Deep Reading (B) Mapping

(C) Top-down approach (D) Down ward approach

The study of rhetoric had flourished in the time of .................... ;

(A) Indians (B) Greeks (C) Tartars (D) Mongols.

In grammer-based approach, the .....................oei. features of the sentence are
the major concern.

(A) Syntactic (B) Systematic (C) Simple (D) Special

The notion of the ........................ derives from the work of linguistic
philosophers, Austin and Searle.

(A) Speech act (B) Spoken act (C) System (D) Syntax
Whenthe ..................... requires it, structure words can also receive stress.

(A) Contact (B) Context (C) Data (D) Language
.............................. refers to new information, not known to the listener or
reader.

(A) Rhyme (B) Rythem (C) Rheme (D) Rhetoric

The underlying structure which accounts for the organization of a text or discourse is
called ........cooviiiiiit, ,
(A) Schemata (B) Symbeol (C) Syntax (D) Semantics

......................... [s an activity which involves Speaker and Listener.

(A) School (B) Hyper (C) Inter active (D) Single

Ina ..o test words are removed from a reading passage at regular

intervals, leaving.

(A) Class (B) Close (C) Cloze (D) Glove

Orthography pertains to ...........oovvvenvenineens ;

(A) Sentence (B) Syntax (C) Spelling (D) Sample

A Relation between two words is also known as ................ .

(A) Hyponymy (B) Hyperbole (C) Hymn (D) Hashtag

Each language is intended to meet the ..............cccoevvivinnne. needs of the

members of the community who use the language.

(A) Communicational (B) Vocational (C) Traditional (D) Contemporary
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The English ..................... patterns result from the need for the language to
increase its vocabulary.

(A) Spelling (B) Word (C) Stress (D) Rhyme
English like avisssssaieeimvessaine And Sanskrit forms new words by adding an
element at the beginning of words.

(A) Greek (B) Roman (C) Hindi (D) Celtic
Different language may have their own ways of forming new words.

(A) True (B) False

(C) Maybe (D) None of the above

An e¢lement added to the beginning of an existing word is called

(A) Suffix (B) Prefix

(C) Element (D) Compound Word

An element added to the end of an existing word is known as ....................... '

(A) Suffix (B) Prefix

(C) Element (D) Compound Word

The technical terms used for “a structural part” of aword is ..........covvevivnininnnn. .
(A) Phoneme (B) Morpheme (C) Syntax (D) Lexical

The number of pronouns is much smaller than the number of .................. in
English.

(A) Adverbs (B) Adjectives (C) Nouns (D) Conjunctions -
‘Person’ is a grammatical category associated with ........................ .

(A) Nouns (B) Adverbs (C) Adjectives (D) Pronouns.
‘Be’, ‘Have’ and ‘Do’ are called primary .......................... .

(A) Nouns (B) Verbs (C) Adverbs (D) Pronouns.
Full verbs are of ................... Types.

(A) Two (B) Three (C) Many (D) Five

The expression of the time reference by means of verb inflections is called

(A) Time (B) Type (C) Tense (D) Text
............................. suffixes may or may not bring about a change in the part of
speech.

(A) Variety (B) Many (C) Derivational (D) Divisional
The ..coovii Is the minimal unit for the analysis of speech.

(A) Syntax (B) Stress (C) Symbol (D) Syllable.
English words can have as many as ........................ syllables.

(A)3 (B)4 ©)s (D) 8

Rhythm cannot be learnt from the written word because it is a property of
...................... language.

(A) Spoken (B) Systematic (C) Syntactic (D) Simple
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One of the words that can complete the meaning of the ‘be’ verb is the
(A) Adverb (B) Verb (C) Adjective (D) Noun
Meaning patterns in a language is called ........................ .

(A) Syntax (B) Semantic (C) System (D) Symbol
......................... is a group of letters added to a word which changes meaning or
function of the word.

(A) Lexic (B) Phonemes (C) Affix (D) Simple

A NP is a group in which the most important word isa ..................ovenene .

(A) Noun (B) Pronoun

(C) Group Noun (D) Personal Noun

The ..o are primarily concerned with establishing the reference
of noun phrases.

(A) Pronouns (B) Adverbs (C) Articles (D) Adjectives
...................... Clauses can be of two types: restrictive or non-restrictive.

(A) Relative (B) Pronouns (C) Reflexive (D) Retaining

A sentence which gives some informationisan .............ccoeeiiiiininnnnn.. sentence.
(A) Assertive (B) Affirmative  (C) Formal (D) Informal

The clauses that are .............ccocovviiininnen. of each other are called coordinate
clauses.

(A) Dependent (B) Independent  (C) Inter Changeable (D) Meaningful.
The adverbial clauses are named according to the ................... They perform in a
sentence.

(A) Function (B) Role (C) Meaning (D) Support
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